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g5z K % ouT IN GR HDCP NET =

2 BN B 40 4 81 8.0 13.0

#E A EE 43 49 92 19.0 73.0
3 |EBE X 48 45 93 20.0 13.0
4 |tplE FOE 41 43 84 10.0 74.0
5 |TH &I 53 51 104 30.0 74.0
6 Al E=x 43 42 85 10.0 75.0
7 MR RE 43 43 86 10.0 76.0
8 |&E =XH 43 43 86 10.0 76.0
9 |HEHR HRZ 4 48 89 13.0 76.0
10 |F% HE¥ 44 47 91 14.0 71.0
n Nl % 42 39 81 3.0 18.0
12 # &= 44 40 84 6.0 78.0
13 BRIl B2 45 44 89 10.0 79.0
14 &M B 47 43 90 10.0 80.0
15 BH —E 47 47 94 14.0 80.0
16 |IxE Ot 41 41 82 1.0 81.0
17 B FHA 42 44 86 5.0 81.0
18 | T3 & 43 43 86 5.0 81.0
19 FFH B2 43 51 94 12.0 82.0
20 =R = 51 52 103 21.0 82.0
21 =l FE 65 47 112 30.0 82.0
22 |#HE EZ 43 50 93 10.0 83.0
23 R "= 49 45 94 11.0 83.0
24 |BER M= 49 49 98 14.0 84.0
25 |AE —F 44 48 92 6.0 86.0
26 /A F 48 48 96 10.0 86.0
27 (&R #ER 54 44 98 12.0 86.0
28 @ W 92 52 104 17.0 87.0
29 |EM RE 50 48 98 8.0 90.0
30 |WA X 55 45 100 10.0 90.0
3 B EE 55 46 101 11.0 90.0
32 |BERE K 59 59 118 24.0 94.0
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E £z K £ ouT IN GR HDCP NET =
B K = 36 36 12 4.0 68.0
2 EHF FE 42 43 85 17.0 68.0

3 hH FEX 40 41 81 10.0 71.0
4 XHF OF 57 50 107 36.0 71.0
5 HF BE 44 38 82 10.0 72.0
6 fislh EA 45 38 83 11.0 72.0
i FH —H& 41 39 80 5.0 75.0
8 =Y 42 40 82 6.0 76.0
9 K& =W 43 40 83 7.0 76.0
10 |XB #t 40 46 86 10.0 76.0
11 | KB A 45 4 86 10.0 76.0
12 |EH =4 45 42 87 11.0 76.0
13 |HhE EER 44 49 93 16.0 71.0
14 |FH  HAsE 4 44 85 7.0 78.0
15 |AH #E 44 47 91 13.0 78.0
16 |[EE =5 48 58 106 28.0 78.0
17 |[#E K’XER 42 43 85 6.0 79.0
18 |#kM  FOkk 51 49 100 21.0 79.0
19 IR Fz 39 4 80 0.0 80.0
20 |FRT B 4 45 86 6.0 80.0
21 Ik —F 43 47 90 10.0 80.0
22 |HBAKX mE 46 b5 101 20.0 81.0
23 |hF fm— 50 55 105 21.0 84.0
24 |\BEK XF 52 52 104 17.0 87.0
25 |FIR A= 56 54 110 20.0 90.0
26 | B— 51 46 97 4.0 93.0
GUEST |luO &= 46 53 99
FR #EX 52 51 103
5 ER 57 53 110
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